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1. Please write your ROLL NUMBER very clearly (only one
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2. There are 90 questions in this booklet. All questions are
compulsory.

3. Select the most suitable answer for each question and
completely darken the circle corresponding to the correct
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4. All questions carry ONE MARK each.

5. There is no negative mark. Every correct answer will be
awarded one mark.

6. Do not write your name on any part of the question booklet
or on the answer sheet. ‘

7. Rough Work can be done in the space provided at the end
of this booklet.

8. The Question Paper will be given in the form of a Question
Booklet. There will be four versions of Question Booklets
with Question Booklet Alpha Code viz. A, B, C, D.

9. The Question Booklet Alpha Code will be printed on the
top left margin of the facing sheet of the Question Booklet.

10. The Question Booklet Alpha Code allotted to you will be
noted in your seating position in the Examination Hall,

11. If you get a Question Booklet where the Alpha Code does
not match to the allotted Alpha Code in the seating
position, please draw the attention of the invigilator
IMMEDIATELY.

12. Check whether the Alpha code given in the Question
Booklet and the OMR Sheet are the same.

13. The Question Booklet Serial Number is printed on the top
right margin of the facing sheet. If your Question Booklet
is un-numbered, please get it replaced by new Question
Booklet with same Alpha Code.
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Class - VIl

There are 90 questions in all. For each question
four alternative answers are given marked as
(1), (2), (3), (4). From these, find the most
appropriate answer. The number denoting this
answer is there in the answer sheet against the
question number concerned. Darken the circle
with Blue/Black Ball Pen only. Record the
answers thus in the OMR answer sheet only.
Do not write anything in the question booklet
except your Roll Number on the cover page and
rough work in the space provided for the purpose.

Directions (Q. No. 1 to 5) :

If the given words are arranged as it is done in
dictionary, then find the last word.

J
1. (1) Grammar (2) yegal
(3) Sports (4) Natural
2. (1) Abash- (2) Aback
(3) Abatus (4) Abandon
3. (1) Reéstaurant (2) Rocket
(3) Rabber (4) “Random
4. (1) Nature (2) Native

3) Narrate (4) Naughty

o« —
5 (1) Alive (2) Anticipate
3 Achieve 4 Appreciate
3) e (4) App
ENG+MAL

MAT

D

@6 90 2I0BITRM HENE. £IEMD BloREYIHIM0
1), (2), 3), (4) agM @EsWOB6Q|SIEI® Moal ,
QO OF®MEo Alle OkLosiETigiens. @RI
NAIWOIWED afROIL0 BRMIBDORIMIVWEBO EDX
OEMOo  Hen3allSlanid. MV OBMOOED
HIG1EOI™ MMUD HEMEENSLIOMIIE @M’
eolosymsflomalon os. v mmMId @oseslw
QUyomo miel EReLEI@ @0jaf marlwies eniowd
Ol oalewoudlal dholaflaaidh. 9EmPEBG
@l 5900 OMR 9@mOsnselomld ad @™o
EEEUOA|S}OMId.  CaldE|MBR  @PSEEIY
enyaslo@ HUd calgl@ dilemales 80w
mmiege, Oad AUdssIMy ealendl maTlgies
QUORIEYS MSEBI d:Gla 10D B35161d DOHFIMNY0
Q)LL)

mldeguemnd (ealosiR® 1 @)®m@ 5 AIenr):
®MISE. LoHHIHe8 tilealensinilecal®y caloeeal

(SNBOod  @UMIMOET  QAIOSE
6 BRED .
1. (1) Grammar (2) Legal

(38) Sports (4) Natural
2 (1) Abash -~ (2) Aback

(3) Abacus (4) Abandon
3 (1) Restaurant (2) Rocket

(3) Robber 4) Random
4. (1) Nature (2) Native

() Narrate . (4) Naughty
5. (1) Alive (2) Anticipate

(3) Achieve (4) Appreciate

P.T.O.
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Directions (Q. No. 6 to 10) : mdequedd (eai0By60BCd 6 ay®a 10 Qlen
Which set of letters when sequentially placed at | a@3®}d3S0 AnSUOEBRA (HOOTI@ flgiealon
the gaps in the given series shall complete it ? @ONEM, ALOMOM GEENS] aljdemaodlo ?
\))
6. xy;,{'%xy;}/_,_yz 6. xy__z__ Xy _X__Yz
1) yyyz @) Jyzy/ 1) yyyz (2) yyzy
() yzyz 4) yyzz (@) yzyz (4) yyzz

ﬂ_zz xgszl')cy,

s x%Z/z;:y/%éé 7. -x . _ zxy - zxy __Z

1) xyyx 2) yzyz v (1) xyyx (2)  yzyz
(3) xyzy (4)  xxzy ) =xyzy (4) xxzy
5 \\
8. xu _ﬁ/x{; y}z(__ yx 8. x_ _zyx __yz __ yx
(1) y:f,zx' (2)  yxxz (1)  yxzx (2) yxxz
(3) yzzx (4)  yzxz )  yzzx (4) yzxz
9.
_:['_gxyx_(__)_x&xy | 9. — — WX _x__ xy
(1) yxx 2 x)
y (2 yxyx (1) yxxy @ yryx
(3)  xyyy 4) xyx
I (3) Xyyy (4) xyxy
10. X xxyx X yyx 4y
: Aﬂ y- 10. el xxyx Ten yyx TR
1) xyyy (2)  xxyy 1
( ) xyyy (2) xxy1
(3)  yayy (4)  yyxx :
(3) yxyy ( 4) S
ENG+MAL i



Class - VIII

Directions (Q. No. 11 to 15) :

In the following diagram, the circle represents
doctors, the triangle represents singers and

rectangle represents dancers,

MAT D

11. g represents :

(1) both doctors and dancers
(2) both doctors and singers
(3) dancers but not doctors

(4) dancers but not singers

2. Which region represents doctors but not

singers and dancers ?
(1) a (2)
(3) ¢ (4)

NG+MAL

b

mideguemBud (@.216 6w 11 ;™ 15 AUe):

aleemldd uUjemo GWIHSARIORD}0
(@@ 06mo al053dh 060 }o 2l®mo
AOMIdMIOO@Io uiaflaflenimmy,

il. g mzaflaflesymay :
(1) GWIHSAMONIe AWIMDIVAMONIo
(2) GIKLSBMOB0 alod0Ml0
(3) GOHKSAMID mroé;om OmaudMmID

(4) l0g)H0D @RLOE® AOMNVROD

12. al0gidHOomlo WOIMaVAMONLo @OL MM
BWIHSABOOM Mallaflleniim @owo

@@ ?
1) a 2) b
B) @) d

P.T.O.
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13. Which region represents singers but not
doctors ?
1) 8 2 d
(@) b 4) e

14. Doctors who are singers but not dancers.

1) a 2 b

G) e @4 g

15. Which region represents doctors, singers and

dancers ?
1) s (2) b
(3) e 4) c

Directions (Q. No. 16 to 21) :

Find the missing number.
113 53
16, g o' 5 =~ 7.1
.2 4
® 3 @ 7
3 4
3 3 4 3
17. 0,1,4, 16,25
1y 7 (2 6
3) 9 @4 12

ENG+MAL

BloVisio
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cawoasdmod  EPRIOA®  aldgiagg,

13. m&g_ﬂg:ﬂ‘ﬁmm @00 aR® ?
g @ d
@ b b

14. womdmd@od @OROEM™  ald3idinog

EUOBSR@ID :
1) a 2 b
@) e 4 8
15. GAIHSADIOOW®YO, 05106 0W)o

woddmoee®io myallaleniam s
@ ? ;
@ s 2 b
(B e 4) c

mldeguemud (6.al9B\B® 16 m)ma 21 e

aflgiealo® auosly R ?

113 53
sl se iy
2 3
1) 3 @ 3
3 4
® 3 @ 3
17‘ 0, ll 4/__,16, 25,
@ 7 ) 6
@ 9 @) 12



Class - VIl
18.

19.

21.

228

MAT
2id1; 23, 47, — 51915 18.
1
(1) 151 @ 143
3 107 @ 95
1 é J Z 9 \1
26 10’ 14" 18 —— 19.
6 10 14 18 5

10
Q = 10

20 -

11
G o n

22 4) 3
4,13, 7,16, 10, _ % | 20.
1 19 2 17
(3 13 4) 15
27 4 46 4] +\O
1, 3, 7, 13, 21, h 21.
(1) 29 , 2 31
(3) 33 4) 35
The numbers on the dial of a clock are replaced | 22.
by letters of the English alphabet in order.
‘F’ comes in place of 4 and
‘G’ comes in place of 5.
The letter that will replace 11 is :
(1)5.P 2 M
(3 N 4) Q

=NG+MAL

5, 11, 23, 47, , 191.

(1) 151 2) 143

3) 107 @ 95

139 7% .9

2 6 10 14 18

0 = @ -
20 21

@ = @ o
22 20

4,13,7,16,10, .

1 19 3. 517

3) 13 @ 15

1,3;7,13,21,

1) 29 (2 31

3 33 @) 35

B0} CHILTIOR MoANBRHN] alddo
o@lad @HMOMOLID ORI @DHHUDBGHD
(0@ aodlowvisaideniomy.

4 6m maflaflenim @osuro ‘F oo

5 6m avzaflaflenm @oexrro ‘G’ o
T@Om 11 om avlaflaflenirm @esau@o
Q@ ?

(1) P 2 M

()i @ Q

P.T.0.
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23,

24,

25.

26.

27.

E;’f:@ﬂ

The sum of the digits of a two-digit number
is 11. If 27 is added to the number, then the

digits change their places. What is the

number ?
(1) 38 (2) 56
(3) 47 (4) 65

Find the number which when added to itself
17 times, gives 162.

1 8 @ 9
@) 11 4) 17

r

In a group, the average age of 20 men is 30
and the average of 30 ladies is 20. Average
age of the entire group is : ’

1) 24

(3) 25

What is the angle made by both the
hands of a clock when the time is 4 o’clock

30 minutes ?
1)  60° (2) 90°
(3) 45° 4) 30°

January 1%t of a leap year is Sunday.
December 315t of the same year will be a :

Saturday (2) Sunday

Monday (4)

@)

3) Tuesday

ENG+MAL

MAT
23.

24.

25.

ey

26.

27.

D

B0} E6NBHE MVoaIORl @RLHOETBOS B!
11 @oem. Moale@os’ 27 &I5l@OM
@OHOETBYLOS UAIMO al®MVal®o DOOZO.
o6y ay® ?

(1) 38 (2) 56

@) 47 (4) 65

80} Moalewos @palen 17 ®alem
Il 162 &lgio. qvoeyy apy® ?
1) 8 2 9
3). 11 @) 17

80} iafloal 20 alolau@m@O0eS KwEOLE! |
QUM 30 9o 30 V(@ HLOS VOINE]
QUMY 20 o @M. @B (iafleal ayeiaind
@DRSHOOIESWI0. LDOIU@ UMY :

(1) 24 @ 24
- 1
3) 25 @ 253
4 aeml 30 alolg @& eMIR 80}

Gy 0H6) 1O @63y M alledeslsiean
806mMBOL ag)m®osny ?

(1) 60° ()
(3) 45° (4)

90°
30°

80 @wladaeml@ moyud 1,
MOWOIY al@oem. @® UdcHEw6el
Wilmoenid 31 agyay Alcummoideno ?

(1) oo (2)
B) oflsd (4)

MODd

©.210Q)
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MAT D

) -
28. If you write down all the numbers from

1 to 100, then how many times do you write

92
)20 @ 19
3 15 @ 10

29. 20t term of the sequence m + —12—, m+ 15

1
m + 15, m+2, .. is:

(1). m-8= (2 m+9

() m+9= @) m+10

Directions (Q. No. 30 to 34) :

In the following questions each word is represented
by numbers. Using the same code, find the number
representing the given word.

o

30. If SQUARE = 463217, then URASEQ is :

(1) 321746 (2) 321476

(3) 312746 (4) 312476

31. If A is coded as 3, B is coded as 4 and so on,
what is the code for FACE ?

8375
7365

(1) 8357 )
(3) 7356 (4)

ENG+MAL

28. 1 oy®@d 100 AOE@ER ag)R)o Mo dh&10
0GB 9 ag)M @RB6O ag)® (OO0
ag)Piemens] oo ?

1) 20 2) 19
@) 15 4) 10

1
29. m+%, m+1, m+15, m+2, ... ag)mMm

euyemiailesl 20-00 al@o :

(1) m#S% 2) m+9
3) m+93£ 4 m+10

mldeguemd (€.0196LIB¢ 30 @}m® 34 AUOE):

2110I0S  OBHIS)OWIBIEHIM  G.2103)6E &I B
QOB b (D Vo 6Ly (D Dale@oullel
auzoflaflofidleniomy. @oe® eHOW Salewoulla]
AN A0sOHe8 uallaflenim moe)
BH06MYeh.

30. SQUARE = 463217 eo®o@, URASEQ

agMn®) :
(1) 321746 (2) 321476
(3) 312746 @) 312476

31. A @es ex»ow 3, B wies e,qeaocw“ 4
ag)milememoomom, FACE O GO

ag)Mmowfidlesio ?
(1)-78357:55 . Gi(2) . 8375
(3) 7356

(4) 7365

P.T.O.
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32:

33.

34.

35.

36.

ENG+MAL

Ef:@ﬂ

If BOY =021525,

TEA =200501, then

MAT=? (30120
(1) 120120 ) 121020
3) 130120 (4) +~ 130102

{
If DATE is coded as 23_26_07_22, then how
can be NEXT coded as ?

1392 87071
(1) 13.22.03.07 (2) 12.22 0307

(3) 13.22.04.07 (4) 12_.22_04_07

If E=5, HEN =27, then PEN= ?
1) 28 @ 48
(3) 29 4) 35

Whét is the differeﬁce between 50% of 80 and
80% of 50 ?

1 o 2) 30

3) 50 (4) 80

If 1+2+3+....+100=S, then 2+4+6+....

+200= ?
1) S+2 (2) S+100

3) 25 @) 38

MAT
32.

85.

34.

35.

36.

10

1+2+3+....+100=5

BOY =021525,

TEA = 200501 @O

MAT= ?
(1) 120120 (2) 121020
(3) 130120 (4) 130102

DATE agm alodslom 23_26_07_2
agimoens’ mjallaflenymMe®esl@d, NEXT

om agsmem quiailafleando ?
(1) 13.22.03_07 (2) 12.22.03_07

(3) 13.22.04 07 (4 1222 0407

E=5, HEN =27 Go@o@ PEN= ?
(1) 28 (2) 48

(3) 29 4) 35

80 & 50%, 50 &@ 80% snal ®adlenss
Q@O0 gy ?

1) 0 (2) 30

(3) 50 4) 80

@D 6) 6M &85 @D
24+4+6+...+200= ?
(1) S+2 (2 Ss+100
3) 25 (4) 3S
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S is taller than A

R is taller than C but shorter than B.

S is shorter than C.

Who is the tallest ?
1) s 2 R
@) B 4) A
38.. Anju is older than Giri by 200 days. If Anju
was born on Thursday, then the birthday of
Giriis:
(1) Sunday (2) Monday
(3) Tuesday (4) Thursday
39. Number of triangles in the diagram is :
(1) 20 (2 16
(3) 8 4 4
40. Number of lines in the diagram :
N/ ><
(1) 15 2) 20
(3) 24 (4) 28
ENG+MAL

11

37:

38.

39.

40.

S Y A CQENOWD DO dH)SIBEIEM).

R 0 C cdnoid 9@o &isymeljo B
BRHHID PO dHIOLMOENT.

S M C c#HID HRRO HIOQI06N).
@DABO6) WD dBh)SIMW ?

1) S 2 R

(3) B @4 A

@nerER}, Sldle#$owd 200 dlaimio myadatosm
2RO, @6YER] Rl o) @
Q§oPoY 2I@Ie Ml @ Heles
2@ElMo a@®eTy ?

(1) emowd (2) dlled

3) ea10q] (4) Yo

afl@otiea (@lesHoememales agepo :

1) 20 @ 16

3) 8 4) 4

of@adileoa curaes ag)eo :

<

<

15
24

) 20
4) 28

(1)
®)

P.T.O.
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41. If A means +, B means X, C means —, then 41.
the value of 8A15B2C1 is :
1 37 (2) 45
3) 23 (4) 49
42. The number exactly divisible by 2, 3,4, 5 and | 42.
61is:
(1) 96740 (2) 97630
(3) 98745 (4) 99840
43. The time shown by a clock is 3 o’clock. What | 43.
will be the time if the hour hand rotates |
135°-2
(1) 8:30 (2) 8:00
(3) 7:45 4 7:30
44. A, B,C,D,E are five buildings facing towards | 44.
East. A is in the middle of E and B. E is to
the right of D. C and D are at two ends.
Which building is on the left side of C ?
(1) D' 2 A
(3) E 4) B
ENG+MAL 12

/7

7\ |
BioVision D

A qopafajenma’ +, B qujafafleayma
x, C myalaflenime - ofHla
8A15B2C1 @ aflel.

(1) 37 (2). 45

(3) 23 (4) 49

2,3, 4, 5, 6 ag)am] QoD  OhOMs]
afleggatto anBlEHOORMN (VoG -

(1) 96740 (2) 97630

(3) 98745 4) 99840

B0} e0H8 Mlallaflenimm &iminow
ma®o 3 a6 @em. aemlaanyd quyall 135°
HOFEIWOMR Ao ag)moidlenio ?

(1) 8:30 (2) 8:00

() 7:45 4) 7:30

Hlos6} dlnaflenas @memy) odgssmaos
A, B, C, D, E agamilal. E, B snu@}es
DAYEDOETY A. D @S QUImEONEET
E. C D agmiau ocemgomosn
nudlafle.aigumae. ageldd C @ies oso
BONOMER ehlso ag® ?

1 D 2 A |

(3) E @ B



ss = Vil e D
grections (Q. No. 45 to 49) : 1 deguemad (6.019B)6BM 45 a)mad 49 en):
fur groups of numbers are given. Three of them | MoelidhiSo Vo6 mailgen. ey (e
ge alike in a certain way. Select the one which is | Glefl@l@ aiommeRo E0)EAI0OLIWOEM). gl
jifferent. OAISOOH® OB}
5. (1) 34 2) 51 45. (1) 34 (2 51
(B) 49 (4) 68 (3) 49 (4) o8
6. (1) 8651 (2) 2459 46. (1) 8651 (2) 2459
(3) 3578 (4) 4789 (3) 3578 (4) 4789
47. (1) 2-4 (2) 4-8 47. (1) 2-4 ) 48
(3) 6—18 4 8-32 3 6-18 4) 8-32
48. (1) 49- 100 (2) 24-64 48. (1) 49 -100 (2) 24-64
(3) 81-144 (4) 9-36 (3) 81-144 4) 9-36
49. (1) 63852 (2) 52638 49. (1) 63852 (2) 52638
(3) 85362 (4) 28751 (3) 85362 (4) 28751
13 P.T.C

ENG+MAL
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Directions (Q. No. 50 to 54) :
Find the missing number marked ¥

()

36

10
51. 5@3
2

(1)
(3)

3
4

8
6@6
e

(2)
(4)

()
4)

%2

10
$(D)s
3

8
5

(3) 16
53. [4 |15 ] 12| 40| 2
30| 8 | 2 | 3| 60
(1) 6 (2) 10
(3) 18 4) 24
54,
(1) 56 2) 64
(3) 88 4) 96

ENG+MAL

12

6Y8 1Y5 6Y
24 25 ?

=6 \7@!@3‘@

n19660300 50 2@ 54 Auee’

mdegueand (¢
7 ag)m’ 806U SIO @ BOUNEO® M6y
B0 N3O :
(1)
(3) 36 (4) 72
10 10
O 5(2)s
2 3
(1) 3 2 8
4 4) 5
DD B
2) 20
(3) 16 @4) 25
53. [4 |15 ] 12 ] 40 | 2
30 8 2| 3 60
1) 6 2) 10
(3) 18 @) 24
54.
2) 64
@) 96
14
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pections (Q. No. 55 to 58) :

MAT D

mldeqUEBK (@.219B46MBM 55 Mm@ 58 QO ):

pmeach of the following questions, a word has been | 8062 3.0106)@TIlM0 BOGMO QUOHE mn@dHIfigiens.
gven. Find the word which can be formed by | 07 uossloel @oeyEem®d oale@ouslal

ising the letters of the given word.

5. REMEMBERING -
(1) GREEN

(3) AGREE

56. NEWSPAPER :
(1) SWEET

(3) REPEAT

57. EXAMINATION :
(1) ACTION

(3) REMAIN

58. INTELLIGENCE :
(1) INTERVAL

(3) NEGLECT

ENG+MAL

(2)

4)

(2)

4)

2

4)

(2)

(4)

NEGRO

WASP

SOUR

NOTE

EXAMINE

LEGEND

INTEGER

RSO AUOBE) HEOENSOYBcb>.

55. REMEMBERING :
(1) GREEN (2) NEGRO

(3) AGREE 4 RAIN

56. NEWSPAPER :
(1) SWEET (2) WASP

(3) REPEAT . (4) SOUR

57. EXAMINATION :
(1) ACTION 2) NOTE

(3) REMAIN (4) EXAMINE

58. INTELLIGENCE :
(1) INTERVAL  (2) LEGEND

(3) NEGLECT (4) INTEGER

15 P.T.O.



Class - VIl

Directions (Q. No. 59 to 65) :

Find the odd figure from the set of given figures.

59.

60.

61.

62.

63.

Ef:@ﬂ

1) ) (3) (4)
@ ) ) 4)
1) ) 6) 4)

(1)

@

(1)

ENG+MAL

MAT

m1Aegueamd (e.ol19aeB0d 59 )™ 65 cue

eoildleaym oN@emsl@d 5ol falisomy

@ ?
59..
(1) 2) 3) (4)
RS A
(1) @) (3) @)
Tlelalelo
(1) (2) (3) )
62. / / /
N\ %
(1) (2 3) 4)
63. @ J
1) (2) ©) (4)
16



ciass — VIl MAT
4. 64.
T =L 'E | A T T p E“F A
@) @ ®) @ ) @ (3) @
5. 65.
A A0 A A |0
(1) ) ® @ ® ) 3) 4)

Directions (Q. No. 66 to 69) :

‘he following figure shows the monthly
xpenditure of a family.

Rent

15%
Savings
10%

If the total income of the family is
Z 20,000, then the amount spent for medicine

66.

is:

(1) % 500

()
(4)

% 200

T 1000 T 2000

mldeguemsud (‘emo‘esemcb 66 @@ 69 UOO):

21}AI6S  OBOSIOBIEIEHIM alll®o 680
&HISlonIABIe) 80} BIMEED ealpiafleom
g adlaflaniomy.

(3)
ENG+MAL

66. H)SloMUETIOG  @DOEH - AUOIMIMO
Z 20,000 @o@o@, amyimy ofleiaiadym
® .
(1) ¥ 200 (2) ¥ 500
(3) 1000 (4) ¥ 2000
17 P.T.O.
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67.

68.

69.

If the amount spent for education is

X 4000, then the total income of the family
is:

@
&)

< 20000
< 12000

2) T 16000

(4) 8000

If the amount spent for purchasing clothes is
< 1200, then the amount spent for food is :

(1) T 4800 )
3) (4)

T 2400

% 4400 < 2800

RIXGDN -
The ratio of the expenditure on education and
savings is :

1)
3)

1:: 2 @ 251, 0y

3:1 @ 173

Directions (Q. No. 70 to 74) :

Find the correct figure from the answer figures if

the problem figures continues in series.

70.

Problem figures :

n

"n

a1

Answer figures :

<

@

v

(1)

ENG+MAL

(2)

(3)

(4)

18

MAT

Ef:\;ﬁ;\!@ﬂ

67. oﬁq)oe(;ommﬂm“ Z 4000 _o_flelmgdwT

68.

69.

ag)@IEd SSIoIETIOR EDOL Qlygy,

T 16000
< 8000

(2)
(4)

T 20000
T 12000

(1)
(3)

Ao ot Moy T 1200 2flainiomy
eadem@sla aflalaiod M @,

) (2) < 2400
3) (4) ¥ 2800

T 4800
< 4400

aflapepamuemiing 62181008 s
quMUIdGINIlo @OTlLNas @VoUdENIMWO :

(1) (2)
(3) (4)

1:2 2:1

3:1 1:3

M1Beg0EBWD (e.219B6mBMR 70 o)m@d 74 (IO

D N@emid emildenim oNlimsmd e
semidlenemsld wao® aNdmysdar

alojm Al afimo pemo aflmesg
aflomio Heenemm)s,.

70.

€.l afllmemd :

*~J

=

"

<&

ommn aflll®ensdd :

<

®

-

(1)

(2)

)

(4)




5 ' MAT

1. Problem figures : 71. @198} aflmemdd :

AP NAPAY

Answer figures : oomo all|®end :

o 17| < | [ < |
(1) 2 ©) 4 1) (2) (3) (4)
. Problem figures : 72. @al198y all@endd :

AL e

AL

Answer figures : oama all|@ensdd :

1) ) (3) (4) (1) (2) (3) (4)

3. Problem figures : | 73. @196y all|memwd :

O

@

Answer figures :

+

X

(1)

=NG+MAL

(2)

19

)

@

oomE afl|mend :

+

X

(1)

(2)

3)



Class - VIl
74.

75:

76.

77.

ENG+MAL

Problem figures :

| |

PV
<—

< ?

Answer figures :

>
> 1
< M
<

1)

—
N
N

(3)

—
N

i

Which of the following word cannot be
formed using the letters of the word
‘Distribution’ ? 7ol
(I) Tution (2)  Situation
(3) Trust (4) Disturb
If PAINT = 74128 and EXCEL = 93596,
then ACCEPT = ?
(1) 133578 (2) 133589
(3) 455978 (4) 455987
If ALGEBRA = AGLERBA, then
STUDENT = ?
(1) TUTDENS (2) TUTDNES
(3) TSUDETN (4) SNEDUTT

20

74.

75.

76.

77;

E;’f:,\jb\!@n

MAT

¢.a108) afl|@EBAD :

| ]

[|= < ?

—
—

|

OOM® afll|memud :

<[t

<[l

> U

> 1

(1) (2) (3) (4)

‘Distribution” ag)mm QUSsIleR! EOHAD6TAC
Salewouil o] Mlddlenomd algomm oS

@ ?
(1)
(3)

Tution (2) Situation

(4)

Trust Disturb

PAINT = 74128 ; EXCEL = 93596 @DWIE
ACCEPT = ?

(1) 133578 (2) 133589

(3) 455978 (4) 455987
ALGEBRA = AGLERBA @) 6)6M &1 @,
STUDENT = ?

(1) TUTDENS (2) TUTDNES

(3) TSUDETN (4) SNEDUTT



55 VIl

(1) DUOLC

(3)

2) DLOUC

COULD (4)

CUOLD

ABDCBCDACBCDDACBCDABBDCA
DCDC :

How many D’s are preceded by C ?
1 9

3 5

Bhanu is 8 ranks ahead of Divya and Divya
ranks 29th in a class of 42 students. What is
Bhanu’s rank from the last ?

21 (2) 22

(4)

(1)

(3) 20

24

MAT

I CRY = MRYC, then GET = ? 78.
(1) MGET (2) MGTE
(3) MEGT (4) METG
BC:FG:JK:? 79.
(1) LM (2) MN
(3) KL 4) NO
If MATHS = SHTAM, then CLOUD = ? 80.

81.

82.

D
CRY = MRYC @owoad GET = ?
(1) MGET (2) MGTE
(3) MEGT (4) METG
BC:FG:JK:?
(1) LM (2) MN
3) KL 4) NO
MATHS =  SHTAM @D 6 6M 8851 G
CLOUD = ?
(1) DUOLC (2) DLOUC
(3) COULD (4) CUOLD

ABDCBCDACBCDDACBCDABBDCA
DCDC : ‘

C 6@ msdomy almym ag)@ D pend ?

1 9 (2 8

@ 5 (4) 4

42 HiglH8188 80 Gomild comiaNeof
008 AlCWHNIWD 8 0o®: mideleloe.

dlajwies 0oss 29 aaesmelcd omialed
00®  @RAUMOMOE® O0&I@ mlmmyo
Qg)@@oey ?

(1)
(3)

21 22

NV

24 4)
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Class - VIII MAT D |
83. Which of the following diagram shows the | 83. ¢0mM 0o, aNeyodmdldwd, Myl el

correct relationship between Classroom,

Students, School ?
@ @ @

The post office is to the east of the school while
hospital is to the south of the school. The
market is to the north of the post office. The
distance of the market from the post office is
equal to the distance of the hospital from the
school.

84.

In which direction is the market with respect

to the school ?

(1) North - East
(2) South - West
(3) North

(4) South

Directions (Q. No. 85 to 90) :

The first two words indicate a certain relationship.
Pick out one word from the choices given which
indicate the same relationship with the third word.

Butter : Milk : : Cloth : ?

85.
(1) Paper (2) Wood
(3) Sugarcané (4) Fibre

ENG+MAL

22

@oleles oo
maflafleaym afi@o agal ?

@O @ @
©9

catogoadlay migmslod Hlvany dluaiieyo
@D W03t (@] qdh el o DIWEM
Slrvafley@oen. alogyoadlmiiang QISEe]
dlnaienen’ 0odsnHg cudl@fle) 21RO ®.
DodHeQlo Galoeguoadluie ®oRleas
@&Hel0ljo  @OWial@®io V80
®orlenes @oBRIlio @RI

- e N 6) (YD)

84.

Msrdlom @EpMalaaoss] 0odsng ag®]
Alvcleloem o8 ?
(1)

QISHE) - BNPHEY

(2) omeEs - alSlermIO
(3) QuUSHE)
(4) OMBHE)

mldeguremRad (@213 I8¢ 85 Mm@ 90 AUe):

@DEIOOT OB} AUISHIBRD 80) (BT
@R @O0 @S] a0 m Vel @
MW a|siET Qfldlsnyamy. @IOMO Q6 @Y
UoSSIlOMm @OE® ERUOOETIOM @Sl EYsHEd
ST SIAMORM aBRQIIo (eromg,em)oeggmo@
CLOBE) EYDOOETTINSIHE .

85. ealem : aload : : el : ?
(1) Galg|d (2) s
(3) HAMS (4) el




class — vy
86. January : March : : April : 7
/ (1) ; May- (2) November
()  December (4) August
87. Perimeter : Centimetre : : Area: ?
(1) Square Centimetre
(2) Cubic Centimetre
(3) Litre
(4) Metre
88. Anthropology : Man : : Zoology : 7
(1) Plants (2) Animals
(3) Future (4) Blood
89. Kochi : Kannur : : Nagercoil : ?
(1) Kollam
(2) Madurai
(3) Thiruvananthapuram AL
(4) Mangalore
90. Corporation : Mayor : : Panchayath : ?
1) Ward (2) Member
(3) President (4) Councillor
i -00o0-
ENG+MAL

BloVision

MAT

23

86.

87.

88:

89.

90.

)

;@@Ldbécgjogeél . ey : 1 cveatongd : ?

o)

2NUd : 202 : : agadlad : ?
(1) 2)
(3) (4)

311L) mnuoerud

aflervoenid @OUOTY
angaal : em@ldigd : : alegjgal : ?

(1) 21mewy acmc@ai’lé?b

agim e[
® egd
(4)

- adigd

IR U B

(1) mqobmcfb DYNETBHD

(2)
(4)

@oadl QBMOo

I

@@35%]1 L eI momdesoaila : ?

(1) o080

(2) oWl

(3) alloummmalioo
(4) @oweldallro

e&,ofb%aomo% 30D : : alerAoWEYD) : ?
o) (2)
3) 4)

oy 6D

(I mflawens SHosdmilald

-00o0-

P.T.O.



